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ECO-10 : ELEMENTS OF COSTING 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any two questions from Section A 

and any two questions from Section B. 

Section—A 

1. Define ‘Cost Accounting’. State its main 
objectives.  2, 8 

2. (a) What do you understand by direct material 
and indirect material ? Explain with 
examples. 5 

(b) How can labour turnover be reduced ? 5 

3. Write short notes on any two of the following :  
5, 5 

(a) Purchase order 
(b) Work-in-Progress 
(c) Contract Costing 
(d) Group Bonus Scheme  
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Section—B 

4. In a factory, the following purchases and issues 
of the material were made during the month of 
August, 2019. Prepare the Store Ledger 
Account under FIFO method : 15 

August 
1 

Balance 300 units @ ` 3 each 

4 Purchased 600 units @ ` 4 each 

6 Issued 500 units 

10 Purchased 700 units @ ` 6 each 

15 Issued 800 units 

19 Returned 50 units to store issued on 
August 6th  and purchased on 
August 4th 

23 Issued 100 units 

5. (a) From the following information, compute 
wages of A and B under Taylor’s 
differential Piece Rate System : 10 

Standard time allowed 10 units per hour 

Normal piece rate ` 5 

A produces 75 units in a day of 8 hours. 

B produces 100 units in a day of 8 hours. 
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(b) Total Contract Price  ` 5,00,000 

Value of work certified  ` 3,00,000 

Cost of work certified  ` 2,55,000 

(Total cost increased–work on certified) 
Cash received  ` 2,40,000 

You are required to determine the amount 
of profit to be taken to Profit & Loss 
Account. 5 

6. Prepare Reconciliation Statement from the 
information given below : 15 

 ` 
Net profit as per cost account books 86,200 

Work overhead under-recovered in 
cost accounts 1,560 

Administrative overheads over 
recovered in cost accounts 850 

Depreciation as per financial 
accounts 5,600 

Depreciation as per cost accounts 6,250 

Interest on investment not taken in 
cost accounts 4,000 
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Loss due to obsolescence charges 
charged in financial accounts only 2,850 

Income tax provided in financial 
accounts 23,525 

Bank interest credited in financial 
accounts 375 

Stores adjustments (credit in 
financial accounts) 237 
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      ECO-10 

Lukrd mikf/ dk;ZØe (ch-Mh-ih-) 

l=kkar ijh{kk 

fnlEcj] 2020 
bZ-lh-vks--10 % ykxr ys[kk ds ewy rRo 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % [k.M ^d* ls fdUgha n k s iz'uksa ds mÙkj nhft, rFkk 
[k.M ^[k* ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

 

 [k.M&d  

1- ^ykxr ys[kk* dh ifjHkk"kk nhft, rFkk blds eq[; 

mís';ksa dk mYys[k dhft,A 2] 8 

2- (v)  ^izR;{k lkexzh* rFkk ^vizR;{k lkexzh* ls vki 

D;k le>rs gSa\ mnkgj.k lfgr O;k[;k dhft,A 

5 

(c) Jfed vkorZ dks dSls de fd;k tk ldrk gS\5 

3- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   5] 5 

(v)  Ø; vkns'k 
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(c)  pkyw dke 

(l)  Bsdk ykxr fu/kZj.k fof/ 

(n)  lewg cksul ;kstuk 

[k.M&[k 

4- ,d iQSDVjh eas vxLr] 2019 ekl ds nkSjku lkexzh ds 

Ø; ,oa fuxZeu fuEufyf[kr FksA igys vkxeu igys 

fuxZeu i¼fr (FIFO) ds vUrxZr lkexzh [kkrk rS;kj 

dhft, %   15 

vxLr 

1 

'ks"k 300 bdkb;k¡ ` 3 izfr bdkbZ dh nj ls 

4 Ø; dha 600 bdkb;k¡ ` 4 izfr bdkbZ dh 

nj ls 

6 fuxZfer dha 500 bdkb;k¡ 

10 Ø; dha 700 bdkb;k¡ ` 6 izfr bdkbZ dh 

nj ls 

15 fuxZfer dha 800 bdkb;k¡ 

19 vxLr 4 dks Ø; dh x;ha o vxLr 6 dks 

fuxZfer dh x;ha 50 bdkb;k¡ okil dha 

23 fuxZfer dha 100 bdkb;k¡ 
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5- (v)  fuEufyf[kr fooj.k ds vk/kj ij Vsyj dh 

foHksnd dk;kZuqlkj nj i¼fr ds vuqlkj A rFkk 
B dh etnwjh dk vkdyu dhft, % 10 

 vuqer ( allowed)  ekud le; 

  10 bdkb;k¡ izfr ?k.Vk 

 lkekU; dk;kZuqlkj nj ` 5 

 A us 8 ?k.Vs ds fy, ,d fnu ds nkSjku 

75 bdkb;ksa dk mRiknu fd;kA 

 B us 8 ?k.Vs ds fy, ,d fnu ds nkSjku 

100 bdkb;ksa dk mRiknu fd;kA 

(c)  dqy Bsdk ewY; ` 5]00]000 

 izekf.kr dk;Z dk ewY; ` 3]00]000 

 izekf.kr dk;Z dh ykxr ` 2]55]000 

 izkIr gqbZ jkf'k (udn) ` 2]40]000 

  ykHk&gkfu [kkrs esa ys tk;h tkus okyh ykHk dh 

jkf'k Kkr dhft,A 5 

6- fuEufyf[kr lwpuk (vk¡dM+ksa) ds vk/kj ij lek/ku 

fooj.k rS;kj dhft, % 15 

 ` 

ykxr ys[kksa ds vuqlkj fuoy ykHk 86,200 
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ykxr ys[kksa esa vYi vo'kksf"kr iQSDVjh 

mifjO;; 1,560 

ykxr ys[kksa esa vf/ vo'kksf"kr iz'kklfud 

mifjO;; 850 

foÙkh; ys[kksa esa fn[kk;k x;k ewY;ßkl 5,600 

ykxr ys[kksa esa fn[kk;k x;k ewY;ßkl 6,250 

ykxr ys[kksa esa fn[kk;k x;k fuos'k ij 

C;kt 4,000 

yqIr O;; ds dkj.k gqbZ gkfu tks dsoy 

foÙkh; ys[kksa esa gh fn[kkbZ xbZ 2,850 

vk;dj tks dsoy foÙkh; ys[kksa esa gh 

fn[kk;k x;k 23,525 

foÙkh; ys[kksa esa ØsfMV fd;k x;k cSad 

C;kt 375 

LVkslZ lek/ku jkf'k (foÙkh; ys[kksa esa 

ØsfMV dh xbZ) 237 
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